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QUESTION 1

A process archive with three JMS services and MaxJobs=5 is deployed. All other values are defaults. Each of the three
services consists of four activities, one being a very CPU-intensive mapping activity. For performance issues, how many
threads are provisioned to execute the mapping activity? 

A. 3 

B. 8 

C. 12 

D. 15 

Correct Answer: B 

 

QUESTION 2

What is an available action as you deploy an ActiveMatrix BusinessWorks solution? 

A. The path to the EAR file location can be specified. 

B. A delay in seconds before a service is stopped can be indicated. 

C. The start time of a deployed application can be delayed. 

D. Older versions of the deployed solution can be deleted. 

Correct Answer: D 

 

QUESTION 3

The Send Mail activity uses which email protocol? 

A. IMAP 

B. HTTP 

C. POP3 

D. SMTP 

E. SNMP 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 
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Which pair of groups should you use to insert multiple records into the database in a single transaction? 

A. 1 

B. 2 

C. 3 

D. 4 

E. 5 

F. 6 

Correct Answer: F 
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QUESTION 5

For a Java class specified in an XML to Java Activity, which two characteristics are required? (Choose two.) 

A. It must be serializable. 

B. It must implement Runnable Interface. 

C. It must have a public default constructor. 

D. It must have public methods for retrieving all data members. 

Correct Answer: AC 
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